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Candidates are required: to give
their answers in their own words
as far as practicable.

Figures in the right hand marg:n
indicate full marks.

15 minutes of extra time have
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read the questions carefully.
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- [121/327]
This question booklet is divided
into two sections — Section-A
and Section-B.
In Section-A, there are

100 objective type questions, out
of which any 50 questions are
to be answered ( each carrying
1 mark). First 50 answers will be.
evaluated by the computer in case
more ,tharll 50 questions are

_answered. For answering these

darken the circle with blue [/
black ball pen against the

_correct option on. OMR. Answer

Sheet provided to you. Do not use

 whitener / liquid / blade / nail

-. etc. on OMR-sheet, otheﬁ?ise

e @vg o g e AT WA RE

7 & frad @ el 4 wet @

R o -

freffe &)1
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the result will be treated
invatid. ' me L 8wy =

In Sec:ti_on-B, there are 30 short
answer typé questions, out of
which any 15 questions are to
be carrying

answered (each

2 marks). Apart from these, there

are 8 long answer type
questions, out of which any
4 questions are to be answered
(each carrying 5§ marks). |

. Use of any electronic appliances is

strictly prohibited.
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@Ug - 3 / SECTION - A

. a‘ﬂﬁf‘?ﬁm I Objective Type Questions
T ST 18 100T%F & H¥7 & W 9K ey Ry 7y & frd @ o gE
g1 fa=et soma%al-aﬁ?ah am#mg#wwa?ﬁmm‘omyﬁzw

fefeqa &%

50x1=50

Question Nos. 1 to- 100 have Jour options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the

QMR-Sheet.

L. di(zcosix)
[‘a, ~2sin 34x
©) —2sin3X

2 (o)

-3
W
(C) 3e~3x

3 a‘li;(i 1%)=

(A) ‘.x; e

) d 1 ).
4 _ dx(Sx-—QJ

() =1

3

C g aet_o o
g (34:14.:—2)2

(3x—2)2 |

(B)

(D)

(B)

(D)

(B)

(D)

INT-A-23/2501-(5/10 |

50 x 1 =50
—%sihi—x
e-—3x
-3
38—311
11% . logx
5 115
logll
=3
(3x-2)2
3
3x-2
Pages / 32
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S. Ilﬁ\_'_J~:=1:1c:<:|329,.zu,'=4!;rsi1r12{3h?13r %Eﬂm%

! o ' tode b

oS w2

(A) P > (B) 5
(C) %sin 20 . APy %tan2 0

If x=acos? o, y=bsin29 then the value of d—y-is '

dx
@ 2 ® -2 :
(©) %sinQE) D %tgnﬂe
6. 3THA THHTOT J;de+y2dly=0 FEAE _
{Al eyt s (B), E+§?=’k'
€ x2-y?=k A" ('D]' -xa-_f:k

The solution of the differential e-quatjon _.;cgdx +y%dy=0 is

@) Beryd=k (B) '_£2+y?=1§
@ *P-y?=k D) L=k
. * . - . .
7. - (J- 2?].(@_3?-}’]; ) - j‘er
@ 0 ' P _-_{B] -6
© -7 - Dy 8

8.  ITaHe WHH 3¥dxte¥ dy=0 & & &
@ W=k B) ~ 3% 4oV

(C] ' _é_eax+%e4y =k F (D} | éSX +'ef1y +e?.;x-|-4y =k

[INT-A-23/2501 5719 [ Page 4 / 32
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B [121/327]

The solution of the differential equation e**dx+e*¥ dy=0 is

(A) e o, o B) % +e*¥ =k

(C) %83x+i_e4y —k (D) 3% 4+e +e W =k

9. STAFA FHHIOT -[L—x+£1§-=03?[3ﬁ%‘

&)  x=ky | o ®  Lil_g
£ x Yy
(C) x+y=k o (D) xy=k
The solution of the differential equation d?x+§-y—=0 is
(A)  x=ky R - T N T
: . ’ . . ;o y
(C) x+y=k (D) xy%k.

10. e FHER SY - ysin x= g6t x T WHEHE T E

(A) sinx T B) e~Sinx

{Cl -. esinx _ ‘ (D] ECOSJC _ d

‘The integrating factor of the differential equation %— ysinx=cotx is
(&) sinx © (B enX
- {C] esinx - {D] ECOS x.

" 11. 3% A4 ¥R B WaT WM &, P(A)=0-3 T P(B)=0.4 @

 P(ANB)=
A 012 - ' (B) q-21
(C) 075 ‘ | s (D) 07

INT-A-23/2501-(5/10) Page 5 / 32
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B [121/327)

If A and B are independent cvents P[A}=U-3 and P(B)=0-4 then

P(ANB) =
A 012 | - (B o021
- (C) '075- . (D) 07

12, ema[g[é ﬁ] .Wﬂ'ﬁﬁsﬁﬁl'&{ﬁ%_

w 3] e [

o [33 e [4]]

'fhc adjom’lclmatrix ofniatri:x‘ [é ﬁ] 1s | ) 153“- |
 (A] _:f;'_f]~7  .u (El-Lfg f?] |
o 3’ 31] s P o g 21] .

5 . |

w6 _(B) 7

© s @9

Ifthe direction cosines of a line be J:_T.’. Jg-? and%?_- then aw.;aluc
of'xis : ' | . |

(A) 6 a " B 7

© 8 S D 9

| INT—A;QS / 250 1-(5/10) Page 6 ,f' 32
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n L [121/327 ]
R A?[é ?] a A% @ R

14.
(&) 254 B 24
© 24 O A
If A=[<1)_ (1}] then the value of A%%is
&) 254 o B) 244
(C) 24 - D) A
15. A WEHAT ‘o', aob=3a+b | UNHINA & dl (2 0 3) 05 =
a) 28 B 32
() 36 ' (D) 22
If the operation 'o' is d.f:ﬁned as aob=3a+b then (2 o 3)o5=:
@& 28 L cEShe
© 36 @9v" o 22 .
16. A A={1,2},B={abec}M AR B AreHi M P F=E -
A 9 B) 12 - N
2] 64 (D) T &S A -
| if A={1,2}, B={a,b,c } then total number of functions from Ato Bis
@a 9 . | B) 12
C© 4 ... (D)  none of these o
17. a% A={a, b}, B={1,23 }ﬁA@.Bﬁmtﬁéﬁﬁwﬁ@T%'
(A) 6 & B -8
© 9 T D) T ¥ HIE A

) i[NT—A-QS/ZSOl—(E!IO} Page 7 / 32
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18.

19.

20. .

- 21.

&) x=ky B K2

| [ 121/327
If A={a, b}, B={1,2,3 } then total number of one-one functions

from A to Bis bsebresult.in

@ 6 ® s

(C) 9 (D)  none of these

SHeIHe FHHT dxc+ dy=0 FT &6 &
(A)  x=ky - B PeyPek

(C}' x+y=k | (D) xy=k -_

~ The solution of the differential equation dx+dy =-0 is

X +92=k
©  x+y=k . D =k
2> > I’
it .1 =
(A) 0O B 1

& ‘..r- .
© -1 "o o 7
s —r.l'
J-Xx. 1 =
-
@ o | @

-
© L. D). o

by BSEBResult.In
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E | [121/327 ]
22,  sin” x+4sin"ly=
(A)  sin 1{x,/1_yzhy 1_x2}
(B) sSin 1{'X1fl—y2+y.‘,'l_x2 }
() - 'sin_l{.:c:\h-+-g,«2 '{y\{1+x2 }
(D) sin“{x-fuy?-yq/l;x?}
23. b= [—1_ 1], sin:[Q(sin'lx-+cos_1x) 1= k
@ o @ o
@ -1 o L
(C) | (D) 2\
‘24,  xeR, cosec(tan"lx + cot”-l-x_} =
@a o | - B 1
) ; ' :
C —_— : D 2
€ 3 U (D)
25. | xlz_l, tanli%(tan'lx_-r-cot“lx)]: _
. _ |
&) e Bl 3
( _) J§ J)/ i
© o o 1
26. 'di_‘t(ex"-q- cosSx)=
{A) e* +cosbx- - (B) e* +5lsin Sx
{9/ e* -~ 5sinSx (D) | % Hicos5%
~ [INT-A-23/2501-5/10) | Page 9 / 32



ad.

28.

29,

30.

i

_CL( Y -
e sin2x+e _ cosx)—
(A)  cos2x+e® -sinx

(C)  2cos2x+e” -sinx

d{1
a—;(zsecfix] =

y - sec4x. tan4x

(C) tan®4x

d;ic(lege 1Dx);—-

1.
(A) 0%
(C) 10x

~(B)

(D)

(B)

N

[121/327)

X .
QCGSQ-’C'FB +s1nx

_ 7 s e
_Dcos2x+e” +sInXx

5602 4x

-L secdx. tan4dx

16

10

| b

P

L
x

el 3x—4y+6z=11 Ed Hﬁ%ﬁ@@% |

@ = B 4=
©) 7%7' (D) ﬁ%?
Distance of the plvane 3x—-4y+ 6z=11 fr;)m orig.in-is :
© & R

_———.._____._'______
|INT-A-23/2501 s, 10)
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32.

33.

34.

39,

sin %gc_ dx=
k- 200&%% (B)
k- -g—cos 341: (D)
k +sin-X 7; (B)
%sin%{‘+ k | (]5]
2 127:;:: dx
k+ ég tan 1; 3x (.]3')
k+fg an’ZZ G D)

(A 4 +k (B)

4% b
Mg4+k (D)
4x3 -6x+k . 3B
x*=3x%+k | (D)

INT-A-23/2501-(5/10) | _
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—sin—+ k

4x+1

x+1

_10g4+

4
4; ~6x2 +k

3
4g —3x%+k

Page 11 / 32
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37.

38.

39.

40.

41,

I e* (cosx—sinx) dx =
(A)  e*sinx+k
(C) —e*sinx+k

fe* (x®+3x%)dx=

[fp, ax%e* +k

(C) . xPe*+k

| Ie_x[?lc,__.]-?] dx =

X

(A) -Lex +k
x .

(A) 39

© -21
.i{sin'q—sxl=
. té} : %-0054—;5"
y %CDS%
[-1]k =1]-
) ~[o]

| INT-A-23/2501 ~{5/10) |

[ 121/327]
(B) . e*cosx+k
(D) k-e*cosx
(B) x%e*+k
D)  3e.x’+k .
(B) - xe* +k
P\
D) . WG
(D) 2
® o
(D) 18
(B)- '—-g-q:-::s—%}E :
(D) —%cos%
B [-1 1]
@ [2 -2]
Page 12 / 32
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E| 1217327 |
7 -2
42, 3[ z ] -
sy . - _
A 7 -2
A L o] 5 (24 7
[ 21 "—.6- ) : ' L. i)
© |24 0] o [% 0]
43, FENUl x+ys< 25, xz 0 0% aﬂﬁﬁ Z= 6x+3y GOl aﬂﬁaﬁnm%
(A} 150 ’ (B) 225
Cc) 425 . . (D) T Y wE A
'I‘_hc ‘maximum value of Z =6x+3y subject to constraints
Xz 0
x+ys 25, yz 0 1
(A) 150 (B) - 225
(C) 425 . {D} none of these
44, Eﬂaﬁ%ﬁx+y<13 x2 0, yzoﬁcﬂaﬂﬁ;::x 3y$rawﬁrmrrrrﬁ%
(A} 39 ¥ AB) 26
© 13 (D) -26
The maximum value of Z=x-3y subject to constraints x+y<13,
x= 0, y20 is R
A 39 | © o dBY” 26
(C) 13 ' (D) -26 J _
45. AT 3x+4y< 24, x20,yz 0 F AT Z=7x+8y Hl <A T &
A 56 B 48
C) © | D) -12
INT-A-23/2501-(5/10) Page 13 / 32
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46.

47.

48.

49.

50.

The
3x+4y< 24, x20,y20 is

minimum

(A) 56
€) o0

(2?“3?].(?+E]z
Ay 2

9/ 3

lx{=g1 2tan"x = |

. (A) - tan‘l 2

_[C) cogl 2% ©
' 1+ x2

f

"x e R, cot ™ x.=

(A) - g-sin'-l ]
(C) = t.‘a.n_1 X
' 2

tan'l[x+y] =
l-xy) |

(A) sin™! (x+y)

3
B 3
5=
(C) 3

value of Z=7x+8Y

[121/327)

subject to constraints
(B) 48
(D) ~-'12
B -1
Dby O
s ud) | H2X
B sin
('l/ 14x2
' o
(D) tan*te=X
N _ _1+x2
(B) 1t-—t’_‘c:|_s_}L__,_vc |
(D) .%—s.f:t:_1 X,
B) cos™! (x+y)
D tanxeany
2n
B Ll
& 3
>
@ X

IET;A-QSIQSO 1-(s/10) |

Page 14 / 32
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S2.

53,

54.

55.

Sjl(:: JCS dx =

81
@
€ o

Isin” x cos® x dx =
i '

i@, 0

3
© 17
SIJ;dx=

9/ 3x3/2+k
j- X+2
x%-4

(A} log | x+2 | +k .

(C) “log| x-2]+k

(D)

B)

(D)

(B)

(D)

B)

(D)

(B)

(D)

iINT—A-23/2501—|5x101 |
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243
4
° _
4
0
3 .
5
1
14
3
25372 4k
%xs”g-&-k' .
10g|x2—4|+k
x+2 '
log | x—2| + k
Page 15 / 32



- - 56.

57.

58.

59.

60.

61.

o
ko

3dx
I 1-9x2

(A)  tan"l3x + Kk

(C) Si_n_1 3x+k

25Isec Sxtan5x .dx =

(A) -. 25 secSx+k

(C) 25tanSx+k

I s_ec2 4x dx= .

(A | ERdiE
(©  4tandxsk
T+)=
(A) O
Cr 2

dx = _
'[1+_36x2 B

(A) 6tan"6x+k

(@ ttan6x+k
BEAIRIEE
o [3Y]

© [5 %]

- (B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(D)

| INT-A-23/2501-is/10) |

sc-:c_1 3x+k

cm;:;"1 3x+k

S5secSx+k

sec 5x+ k

~tand4x+k

Btandx+k

3tan"l6x +k

tan'16x+k

[121/327)
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62.

63.

64.

65.

66.

67.

2 3 2
S 7 B
4 6
@[5 &) o
© 19 45] D)
/6 -
I tan6df =
-n/6 .
a0 | @
@2 o
J‘Sin3 0 cosec?0de =
A)  c+o - @
(@ c-cosb L m
I(coée -::t:is.e_czet—cmsE!o::vmnt2 G)de =
(A) log cosec ) +' cotO+k ‘ (B)
{C] k +sin6 | | (D)
I(4cosx—Ssinx]dx=
l{A} k+4sinx+5cosx V(,B)’
(C) k+4'sinx—5closx _ 5. D)
f 3cosx-2sinx
I —— dx =
2cos x+3sinx
(A) 2cos x+3sinx+k (B) -
(C) ta’n'l{Ssingl-i-k . (D)

[121/327 ]

4 15
110 35

109
145

[INT-A-23/2501-5/10)

c+cos0

e +sind

cosecH cotB+ k

O+k

. k-4sinx-5cos x

k—4sinx+5cos x

log | 2cosx + 3sinx| +k

2tan-i2C-+k

' Page 17 / 32
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[121/327)

3x%+2
68. P
'[x3+2x X
(A} sin™!(x3 +2x) g (B) tan~1{3x2+2) +k.
() log|3x?+2|+k D) loglx+2x|+k
69, I_di_ _
| x2+5
A an~! X N | -1 X Lk
(A)  tanT £+k (B]_ tan™ 7=
B = T : ' : =1 3
(C —=t il D 5tan” —=+K
) JgtenT =tk D 5 -
— 3+x '
70. | =
. I—-_Ilog[S—xJ dx =
@ o ® 11
(C) 21log3 (D} 1} 30g 2
71, e Eor Sy 2si e T €
2 - .
a < B) 2e
(C). 2logx D) %
‘The integrating factor of the c_liffe;‘éntial equation % + -2:’-;"-'- =5x2is
_(A}. = (B) ~ 2e* -~
(C) - 2logx D) 2
-,
72. (3k-7i)x2k=
(A) -14J B} 147
o '--.+ P ' T,
) 11i -2k ._ (D) 2k -11i
~ [INT-A-23/2501-5/10 |

Page 18 / 32
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- -3 -
73. |i1-2j+2k]|= |
vm/ 3 B) 6
© 7 - D) S

74, T x+2y-3z+15=0 % el & f§p I €
@ 1,23 N B) 1,-2,3

© 1,2,-3 O) 1,2,15

Direction ratios of the normal to the plane x +2y — 3z+15=0 are

@ 1,23 | B 1,-2,3
© 1L,2-8 - D) 1,215
75,  TeT Y@ x;1=y;2=zgs ¥ fe Ui &
A) 12,5 _ B 3,25
Cr 3,3,6 DO 1,35
._ . 3 : ; x+1 y-? 2—5
The direction ratios of the straight line o g g, lare
&) 1,2, 5 | B) 3,2,5
() 3,3,6 | D) 1,3,5
— x-100 _"y-99 _=z-98 ﬁrl:lfaﬁaﬁ' frg
7e. @ 101 102 =~ 103 5 W g ¥
T € ?
(A) (101, 102,103} (B) (98,99, 100)
(C) (100,99,98) . - (D) (99,100,101)
TNT-A-23/2501s/101 | Page 19 / 32
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‘ : ight line
Throughl which of the following points does the straig | ine
x.—lOO__y—gg E -G08

= ?
101 ~"Joz ~Tio3 Pess
(A) (101, 102, 103 (B) (98,99, 100)
(€ (100, 99, 98) (D) (99, 100, 101)
. = - § cay - |
77 (104 + j+.k)><'('-'4?+7]?-11k)=
| | =¥ . | i I T -
(A)  -181i +106 j+74 % B) 181 -106 j-74k
(C) 1817 +106 j+74 % (D) 5 j=7k

g, d (.3 x)_
?8. dx(x +e" )=

A 3x2 B) 3x74 58
\_,(2)/ 3;62+ gt | § D) 3x2eX
79. ag;(tanx+sinzx}= . .
| (A) -secx+2$iﬁxcosx ' (B) secz_x+cosgx ;
(C) sec? x+2sinxcos x (D) gech—ésizﬁ;&cos x
80, d—‘j}( )
ev% K " P {B]_ 10.e5x

\)/ 585.’: * 6 {D] 25¢ Sx
81. @ x-8y- 9z = 12%%@%%%%

(A) x+8y+92 12- -(B]’ : x—8y-—93=2023_

(€} 8x-y-9z=12 (D) " X~9Yy-8z=12

' |INT-A—23f2501-{5f101 5T Page 20 / 32
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E (121/327 ]

Equation of a plane parallel to the plane x—-8y-92z=12is

(&) x+8y+9z=12 (Br - 8y—92=2023

(C)  8x-y-9z=12 | D) - x-9y-8z=12,
82. 37 -4k )2 =

(A) 1 , ﬁ/ '25

© 7 : | (D) 49

sa. W 37 -0 W e o wd ew &

ﬁ _3_"%1_ @ 3i-9;
> = R\ S |
_}G{ 3};—3" | G722 -
SRS

The unit vector in the direction of vector 3 1 -9 j is

3i-9j i-9J
i —9 ] _ i-
,\_L) 490 . (D} J70
B s - > o
84. (i—_j+k].(7i -8 j +9k)=
(A) 22 - B 23
©) 24 | (D) = 25
NT-A-23/2501-(6/10) " Page 21/ 32
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85. AT 3x+4y+5z=13 R x-3H&T W el T4 HAW'S €
3 o 13
A 3 g 13
(A) e | (B) 3
13 13
(C) n (D) 5
The intercept cut off on x-axis by the plane 3x+4y+5z=13 is
'3 = B 13
A L 13
W 33 - &) 3
13 | | 13
g 13 py 13
- (©) 4 (D) 5
86. IR aeA ax+by+cz+d o %W%@T L=dsZaa
(A)  a+2b+3c=0 LYSB) -a+2b+3c=0
©) Ba+br2e=0- " T ¥ w T
Ifthé line ﬁ:%:-‘% is parallel to the plane axléby+cz+dho then
(A) a+2b+3c=0 . B) —a+2b+3e=p
(C)  Ba+b+2c=0 I (D) “none of th_ése
87. 'ﬂﬁﬁ o a, x +b1y fcl'z+d.1l=0 a9n a,x +bgy 4022+d2- =0 TER
ot g
' LN | - ~—1- _'E_’l_ 2 '
e RS
()  a@y+bby+ee, =0 (D) Y Y aﬁé T
.iINT-A-QS/ZSOl-gsnm | Page 22 / 32
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89.

90.
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If two planecs a x +by +c¢z +d =0 and .a,x +byy ~+-.czz+d2 =0 are

I
mutually perpendicular then bsebresult.in

. (A) ﬂ:-i--_-i- (B) _Cil.+i+c_1=0
a, b, c, a, _bQ Cy
g:o]/ a,a, +b b, +c,c, =0 (D)  none of these

-~ - —

- -
(11i -7 j—-k).(8i —j -S5k)=

(A)y 95 - . (B) - 100
() 400 | D) 88
P(Al=%, P(B]=%, P(aﬂB)=f"—f:> P(A/B)=
| . PR\

© 1 oo 2

P(E}:%, é(F):%, P(Euf]=%:> PENF)=
@ = - ® 3
Q 7 ) . 3
qﬁa}mi@aﬁ%ﬁ?@ﬁms,aaﬂwo, 10,6 & Al x T HA & |

(A) 10 '. : : B) 5

(C) 3' o - (D) 40

INTfA-.QS;".QSO].-ISleI | _ - | Page 23 / 32
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~ If the direction ratios of two parallel lines are x, 5, 3 and 20, 10, 6

then the value of xis

® 10 L B) 5
© 3 D 40 .
. . P & .- | 3 Y 1C2
92. aﬁ'ﬁwm&ﬁ#&?m a,,by,¢; T ay,by.0; ed a,
Wy B b
s S D g

If the direction ratios of two parallel lines are a;,b;,c; and %bzrcz

-thcn 4%

Wy o : .
I B B
© by Ol o

93. -uﬁz’rwaﬁ%@aﬁ%ﬁa@mz 3, SHETTxy,A_E‘?fFﬁ

-2x+3y—
(A) ' 20 - (B) -20
© 30 D@ -30

If the direction ratios of two mutually perpendicular lines are 2, 3, 5

and x, y, 4 then 2x + 3y =
@& 20 B -20
c) 30 (D)  -30

ﬁ/ 543 B 12

© 2 D9
INT-A-23/2501-s/10
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95. [2a-7 1]=[a b-1]= (a,b)=

(A) (1, 7) | (B) (2,'7)
©  (7,2) - D (23)
1 1 5
96. 4 9 17|=
5 10 22
(A) 264 ' “(B) 1221 -~
€ o D) 1
1 | |
97. 5 4 1=
76 1
(A} O B 1
c -1 (D) 12
|-sin®  -cos® |
- 98. sgiznﬁ cggzc o~
@ o @ -1
@ -2 (D) -sin26
1 0]]2 -3,
99. [0 1] [0 4]“
2 =3 o Q7
@ |33 B0 4
- -3 - . [1 0]
(©) [3 2 | ®OF o 1)

100. [6 5][_%] =
&) [6 -5] B [-5 6]

© [1] | « 4Dl Ill]

| INT—A-23/2501-(5;101 | . Page 25/ 32
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WUT - T / SECTION - B |
o I U3 / Short Answer Type Questlons
W?W@TI#SOWWW?!W#%%?15W$W?IW
w97 & forg 2 o Freifea & | . 15 x2 =30

+

Question Nos. ‘I to 30 are Short Answer Type Answer any 15 questions. Each
question carries 2 marks. ' : 15 x2 =30

1. % y= x_x+1aﬁmﬁwﬁmwﬁ"gwmﬁﬁ‘w
| P 2 1| IR | 2

Find the slope of - the tangent tfo the curve y= x3—x+1 at the point

whose x-coordmatc is 2.

2. Tes®ifE- ... : R RaRWﬁﬁﬁﬁ%WﬁWﬂTﬁ%lQ
Prove that " ............ o R % RI — R is not-a commutative bma.ry
operation. _ . j ' _

3. - c;osec_IQ_?ﬁTH@'tﬂ?[mﬁl ' 2

Find the principal value of cosec™!2. . -

'Find the acu'te angle between the ]incs %:%:% and X-Y_ z

5. wﬂﬁﬁ4wwsﬁﬁﬂ%%ﬁmw9ﬁﬁ5ﬂ6ﬁﬁmmﬁﬁ%
e 39 e Pl ST 21 o et e e ey

&1 wiear AT | 2-

A bag contains 4- red and 5 white balls and another nag conta.ms-
5 black and 6 green balls. A ball is taken oyt from each bag. Find the

probab1l1ty that one ball is red and the other is black.

INTA S TS0 T
by:BSEBResult.In
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6. : 4
5 Tt =1 Sorem Star ¥ i i i e @ wideRaT T A 2
S coi : '
coins are tossed. Find the probability of getting exactly 3 heads.
= W E:'H_@ * cosec™lx +sec? x=%,| x|21. 2
Prove that cosec lx+sec lx—g- A2
8. aﬁﬁ_x+zy+3z=6 AT 3x—3y+z=1 F HT BT HIVT [ H 2

Find the angle between the planes x+2y+3z=6 and 3x-3y+z=1.
o. I (4-56)HT . (4T-47 +7k)=~6RFTAFI 2

Find the distance of the ‘point (" 4, - 5, 6 ) from the plane

- - - -

r.{4:—4j+7k)=—6.
: - - = - - . = - - - = G ok
‘)9./?Iﬁa=2i+j+3k‘ﬁ€nb=3i45j—2k<"ﬁ|axb|'3ﬂt_‘f?ﬁ'h 2

y - = - - 3 o -5
Ifa=2i+j+3kand,b=3:'*+5;—-2k.thgnfind|axb|.

| -P‘ - —» —» = —
yaﬁg=7?—llj-—l6k, b=8£+3j—5}g*ﬁ€[’[
' - T .
g=—4?-—3?+5kﬂ:f|-2a —3b+4clmaﬁl ; 9

- — -» -» = - - - -
¢ 2o77-11j-16k, b=81+3j-5k and c=-4i-3j+5k

. 5
mcnﬁndjz'&’—sgﬂclﬁ | _ '

IINT -A- 23/2501-[5;10} l | Page 27 / 32
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12 fﬂ@_aﬁ%[o,%)wf(xj‘;sinxﬁﬁiatﬁﬁﬁﬁ'%l - 2

- Prove that the function f(x)=sinx is continuously increasing

=(o3)

©13. W?ﬁ x—mﬁy 2x2 y. _ ' ; 2
_ dx | .
Solve - x 3Y 2
Solve : x—= —y=2 .
x - - dx y Xy ; | |
14.- ‘_'qﬁ' x+y=xy3?‘l§f%%$'l'lﬁaﬁl : | 2
If x+~y=xy3then find _cly_ | ; E
1 : : dx ’ ' : _
\m/?{ﬁ dy ;29 1, _ - ' 2
e dx " x 2 | G
Solve : dy+2y= 1 ’

dxxx2

1 2 4
1'3 6
1 4 9

16,/ WRIE & T T B ' o 9

Find the vélue of the determinant

=
'sDO'\-P-

| 2 o
3 ’ :

G o o

. 012] 1 -
/ﬂﬁA=123 Bl =1, ﬁmmaﬁﬂﬁwa’rl 2
| 2 3 4 3 -

| 01 2 1 —2 i1 AR
If A={1 2 3|, B=|-1 thern ﬂnd AB 1fp0531ble h
2 3 4 2 -1 T

)/ﬁqga'ﬁﬁh‘ 1+2_; +3k. -?;7+8k 3R —41 +4_;+6k Th
ﬁgaaaamaw'- S R

INT-A- 23/2501 ~(5/10) | _ ' Page 28 / 32- .
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-+ 9 o A
Prove that i +2j +3k, —7—:? —?+8-1: and ‘-41i +4 j +6k are

vertices of an equilateral triangle.

19. 4ig y:cos{tan1,‘x+1)'?—|:f g—i T e | 2
If y=cos tanJF 1} then find _cdl_y
/\/ﬁﬁ f - | . 2
| x(1+log x)? .
Solve : f
x{1+10gex]
21, J— dx_, : | _ . . 5

ekvx
Integrate I T dx.

_ ‘y/ Isinzlx.cosmxdx ﬂﬂﬂiﬂ'ﬂﬁl o 2

wl : ‘ L )
_ q | :
Find the value of Isin21 x.cos'? xdx.
' i,

cotd _ gomAMFEFI - 2
tan0+ cotd |

5 nf2
_ - cot®
Find the value c'_f I tan 0+ cotd

0 . :
IIN’I‘-A-QS/ 2501-(5/10) | . Page 29 / 32
by:BSEBResult.In
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25.  A™ y=(sinx)%* ar % T A 2.
If ; =(sinx]°°5".‘ then find 4y
iy _ nd ==

(/ "'?&«" x=qa(l-cosl), y= a(0+sm0}?‘ﬁ Eﬂﬁﬁ‘f{l 2‘

d
If x=a(l-cos0), y=a(0+sinb) then find H'% ’
27. &Ml X+2y< 16
x20, yz0
& f@ld Z=3x+7y F AHAH AH T HL . 2
Maximize Z=3x+7y

subject to the constraints x+2y< 16

x20, y20.

28, THHEH &Y Isin4x.q053xdx. ' : : : 2
Intégrate : Isin4x.cos'3xdx.

29, d9 1 goener S

3-4cos@ v e ' - 2
s dé . - o5
Intégrate. ___-3—-4cos'9_'
30. j' oS X dx T GHRRT ¢ | -

cosec x +cot x _ .
) ‘

COSEC X
X
COSEC X + COt X

[INT-A- 23/ 501 -{5/10) ' ~ Page 30 /32
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et dtw W / Long Answer Type Questions

mﬁwuﬁasaﬁﬁﬁqm%lﬁﬁﬁﬁﬂ?4uﬁ%mé|m

a*i?Qsﬁmﬁufﬁa%l - 4x5=20
Question Nos. 31 to 38 are Long Answer Type questions. Answer any
~ 4 questions. Each question carries 5 marks. - - 4x5=20
31. _ T BN (x?+y2]% =2xy. S
S l = 2 2 iy--=
D\fe (x“+y° )3, 2xy .
32. fog F fF tan~! L -+ tan™ —2—'2—-—=c0tTl X g 5
S x“+xy+l ' :
Prove that tan™ 1 + t:.-;t:u'1 2' o~ =-ccﬂ:"l X, '-
" ' x+y c x+xy+l
| | j . |la=b-¢c 2a ' 2a
33, Rl FEAES e | 26 b-c-a 2D 5
_ , 2. 2 .c-a-bj
: a-b=-c 2a 2a P9
Factorize the determinant ! 2b b-c-a 2b -
‘ 2c 2c c—-a-b|.
; _ » di |
= COosS X SN X =4
34, q‘fi{ y:{smx] +(cosx ) ar T TITH#I 5
; sin x dy
Ify= [sinx]"“sx +(cos x) then find TR
35. @mﬁﬁwﬁﬁaﬁﬁﬁﬁwwmmaﬁl 5

the mean of the number of heads in two tosses of a coin.

_ ]INT—A‘-23/2501—IEJ10} | I f’age 31 /32
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36.

37.

38.

[ 121/327 ]

Z =5x+7y F ATHIHHIT HL FAalD

x+y< 4

3x+8y < 24

10x+7y < 35

x,yz20 T ; © S
Maximize Z=5x+Ty | |
subject to x+y< 4

3x+8y < 24

10x+7y < 35

x,yz20
f( ] 2x 4 1 A A B -5
e 2x2 ' 5

2

Find the value ofj[-%— 1 ]32" dx .
[{?»2'}+3¥];¢(2T+? -}_;]} (J+k) A A FLL 5

—)I - -3 —» /.
_Fmdthcvalueof[{ 1—2;+3k]x(21 +_; —k] (J‘+/k$_/

e a1¢ & wafea @aft warerdl,

. BT YA, U8 U7, v
e,

mm%mﬁm
Uges Ural & fAe...

BSEBResult.In
fiffe s
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